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I 7 mwn: possibility of liability for 4 mxvn and 1 owx for one eating-event (authored by n™)
a mwom &no (1) who ate a9n (2) which was amm (3) on 3”0y (4)
b oww if it was w1pM (NY'YN)
¢ p7rif it was naw and he carried it outside, 5" nkvn for carrying
i Question: why add naw into it — should be liable for carrying on 3"nv
1 Answer (0797): there is no NR¥1N NOR on 2"V
(a) block: perhaps n" just added that if it is naw, there is also liability for naw for carrying
2 rather: p197's comment was about the nw17T (v. 1) that 'ny WX goes with 17»w — even on naw
(a) Block: 1yw on 2"nv is per nnn nnxn (other k¥ may be MOR)- rather, 03197 never said this (errant report)
d  Rejection (onon): irrelevant to eating
i Defense of accumulation of o>7170’x: even though n" holds MR %Y N MR PR, he agrees in case of Y212/9010 MR
Originally: only prohibited from eating 25n (1 nxon)
~pv: since he is now banned from all DwTp-meat, kMY N>R is added to 29N (2 mrovn)
w777 since this adds nRin MR to meat, the DWTPN NRIN NOR is added to 29N (DWR)
7. since this adds an M9 MR (may not be on narn), 1M MR is added to 29n (3 mron)
or71192i7 o since he is now banned from eating anything, 5”ny 11o°R includes a%n (4 mron)
ii  challenge: why not add a 5™ nxvn for eating Y19 (if the 91n1 was also Y109)
1 Answer: the list of the niwn is only about 1 animal, not 2; 9m and 5»a cannot both apply to same animal
2 Challenge: if he put one 7ax of Y129 on nam, Y129 NO’X leaves it and it immediately becomes amim (per 891)
(a) Answer: list is only in reference to a single 7ax
(b) Challenge: even a single 72Rr could be part-1nn (part on nam) and part-51a (part hanging off nam)
(i) Answer: follow 2R 217 — single status for entire 7ax
1. Challenge: this should solve n"17’s question about following 211 for 0”2 (it doesn’t)
(if) Rather: we're only listing one n’13 of food here — cannot be both 22 and Inn
1. Challenge: nron for 2”n — and MW is larger than n>r (Moan namd)
(iii) Answer (¥7r 77): if he ate a kidney with its 29n around it
(iv) Answer (97): if he ate other food (e.g. dates) to fill rest of Myw
(v) However: R"ar1 read “5 mxron” in mwn and ignored these defenses (included 5w9)
1. Challenge: why not read 6 mrvn, and include o7
2. Answer: it is one n573R, and %" knew that the gullet can only hold 2 omt at a time
I 10 mwn: possibility of liability for 6 mxon for 1 nx»a
a mxvm his daughter (1) who is his sister (2 - result of incest with mother), who married his brother (3) then his father’s
brother (4), is still married to him (5) and nm1 (6)
b Defense of accumulation of o>110°A: even though 1 holds MooR H» Yn MR PR, he agrees in case of Y913/9010 NOR
i Originally: daughter was born as his sister — 1&2 come simultaneously
ii  rn~x nws when she married his brother, now 779°® to other brothers — that mo'® is added to him (3)
iii 13~ 'nx nwx. when she married his uncle, she became nmoR to other uncles (his brothers) — added to him (4)
iv v nwN: by being married, she is N0 to everyone else (5)
v 772 when she is nT, prohibited even to her own husband (6)
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III  2n mwn: possibility of liability for 7 mxon for 1 nx»a

a

b

C

mwxor: his granddaughter (1) who is also his daughter-in-law (2), his brother’s wife (3) his uncle’s wife (4) and his wife’s
sister (5); R nWR (6) and N1 (7)
»py? /7. if his father “transgressed” and married her, he would have then violated var nwx (8)
i Question: how could father marry her at all?
ii  Answer: if she fell to him as nn2’ (from uncle)
1 Question: if so, why is it considered a “transgression” ("12y”)?
2 Answer: this is a violation of »1 n%3 — which is a n2w (j3297N)
(a) Per: ®m»a - and it extends to great-granddaughter-in-law etc. ad infinitum
iii  Note: 'ov 1 only allows for MR %Y Hn MR if it is 9010 or Y12
1 Otherwise: per his ruling re: relationship that carries 2 mn’n, he rules MR 5» YN NOR PR Dget nnon per 1% status
2 In this case: if father has another son (besides our violator), once he marries her, that son is now na 1PR >¢ 0N
Note: same list could apply to his wife’s daughter or her granddaughter

IV 1y mwn: possibility of 7 mxon for ymmnn

a

b
c

mxorr: his mother-in-law (1) who is also his daughter-in-law (2), his brother’s wife (3), his uncle’s wife (4) and his wife’s
sister (5), an w’& NWR (6) and N7 (7)
Note: same applies to his mother-in-law’s mother (\mnn or) or father-in-law’s mother (¥nn or)
277 if ymnn is also ymnn or and vnn or - 3 liabilities
i ppom all one category =1 nxron
it Observation (¥”): 1”23 and v1amo have a common approach
1 277 per above
2 oo (in re 2 181 1mN): if he slaughtered gen. 1 and gen. 3 (1mn) then gen. 2 — 1 set of man
(@) oo (7 bw): 2 sets of man
3 Challenge (827): perhaps 1”11 only ruled for multiple liabilities as there are 3 different nmo'x
(a) But: in the case of 2R, both gen1 and gen3 fall under rubric of 122 Ny MR (1 DW)
4 And (»7227): perhaps v1amo only argued for double-man as there are ppymn pan (different animals)
(a) But: here, he would agree with 1nar "7, who saw all mnn »oR as anchored in v. 2 — X0 Mt M NIRY
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